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1 problem with LATEXexport

The following verbatim output was generated using babel and maxima.

\hyperref[sec-1]{n1n = 0.93 mol, n1i = 0.05 mol, n1h = 0.02 mol, n2n = 0.558 mol, : n2i = 0.422 mol, n2h = 0.02 mol, xi = 0.372 mol}

The two lines above are converted into a single line in the latex output and the line

starts with \hyperref.

[[n1n = 0.93 mol, n1i = 0.05 mol, n1h = 0.02 mol, n2n = 0.558 mol,

n2i = 0.422 mol, n2h = 0.02 mol, xi = 0.372 mol]]

but these lines work. I cannot �gure out why the very subtle di�erent (an extra space

between the leading : and the �rst non-space character on the second line of the �rst

pair of lines) makes any di�erence at all. . .
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